


                                               2𝑛𝑑 sem 
                                                                                                                                  Marks-10 
                                              Internal. Assessment                                               5 + 5 = 10                      
 
(a) Show that the vectors (−1,2,1); (3,0, −1); (−5,4,3) are linearly dependent. 
(b) Find the eigen values of the matrix 

𝐴 = [
3 1 1
1 5 1
1 1 3

] 

 



4th sem 

                                                                        Marks-10 
Internal Assessment                                                 5+5=10 

 
(1) Solve –    

[𝐷2 − 𝑎2]𝑦 = sin𝑎𝑥 

(2) Find the differential equation of the circles parsing through origin 2 having their centers on 
𝑥-axis.? 

 


